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The figures in the margin indicate
Jull marks for the questions.
Answer either in English or in Assamese.,
1. Answer the following questions as directed :
1x7=7
o SR weTe frar emeTes Teg foran ¢

(a) Fisher’s ideal index number is the
geometric mean of Laspeyre’s and

Paache’s index number.
| (State True or False}

IR S SHFIT (2R CTRLPRIE S AT
HPRT WS NG | (9% (F 53% [F730)

(b) With which component of time series ‘a
strike in a factory’ is associated ?

AT (O THAIKE S OBl IR
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(c)

(@)

(e)

(9)

Answer the following questions :

Name the control charts which are used
for attributes.

@i AT IR A1 et Afoa A foia
State the laws of demand and supply.
BifEn S (alig R S 4 |

Consumer price index number is also
index number.
(Fill in the blank)

mwmﬁzﬁm_ﬂmﬁ?ﬁﬁ%w
T | (31T 31 {79 ¥

State two sources of vital statistics.

TR O 75! G TR |

Process control is achieved through the
technique of . (Fillin the blanks)

7| (3T 21T 79 791)

2x4=8

known as

weT il erTee Tee e ¢
(a) What do you mean by demand and

supply of a commodity ?

51 TS Hifew e (s 3T S ge e
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(b) Define crude death rate. Why is it called

(c)

(d)

a probability rate ?
SIS gy 29 st e | 2 b oTsiRrere
29 (=Y 2

Define time series.
mathematical form of it.

SETCTIE 1%al il | 31 shfAfes et Sra 91|

Distinguish between assignable causes
and chance causes in S.Q.C.

IRBACAN] P SN FN01E TR G M
bR =41 |

State the

Answer any three questions from the

following : 5x3=15
weTs it Rz ol e e fora ¢
(@) Explain time reversal test and factor

(b)
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reversal test of index number.

IEPIRP I TG B GAM Beael GG
< 4
What are different components of a time

series ? Explain any one of them.
2+3=5

Sy Rin Toom & & » R abie
R0 i =1
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(c)

(d)

(e)

Define equilibrium price. The demand
curve and the supply curve of a
commodity are given by D=19-3p - p?
and S=5p-1. Find the equilibrium
price and the quantity exchanged.
1+2+2=5
Iy e @ R | <Gt AR BifRn 3 o

AN < YOI (2= ¥ D=19-3p- p’
W% S = 5p —1 | SREY T W% RS 29
st s [efm 1|

Name different types of fertility rates. In

what sense age-specific fertility rate is

better than general fertility rate ?
2+3=5

o TfroE TR AN 7 | e TEReE
TEetE IR Tael 2 [ (2 ¢

A plant produces rolls of paper. The
number of defects disclosed by
inspection of 20 rolls are given below :

13858, 11, 5073, &, 6, 11,
L3, 10y 20, 9,118,212, 9, 20

Using an appropriate control chart,
comment on the state of control of the
product.
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@I G5 AR FoiEa (It T T | Gt

205t (3153 ST 2FTHIETS SEFTRNS AIZS
TSB! (35S (ol Gioa T SoTe Al Te ¢

13,8 o1y, '8, 4,6, 11,
13, 7,105 20:49,, 118, 12..9,.20

@Bt T A FRTS T It
FEElfe SrRgre 249 74P A Toe wifg
14 |

Answer either 4(a) or 4(b):
4 () T 4(b) 3 TS fo1dll 8

(@)

(b)

Write a note on net reproduction rate.
Show that GRR>NRR. Explain what are
meant by NRR<,=,>1. 4+3+3=10

2o 2T 299 8o @b (B &t | @y
(1 GRR>NRR, NRR<,=,>1 IHF = HgaR
T

Define index number. Describe simple
aggregate and weighted aggregate
methods of construction of index
number. Mention the formulae obtained
by using different types of weight. State
two limitations of index number. 10
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6.
oI T TR | A5 S107R e W% Sl Answer either 6(a) or 6(b):

S 21 oo el 71 | R o TR I 6(a) 31 6(b) < T fera ¢
(O IHFRPI AN foreit | piFT 707 (@) Write notes on the following: 5x2=10
Mt T =1 |
TS AT eige (Bt frei 3
5. Answer either 5(a) or S(b): (i) Engel’s law and Engel’s curve
5(a) 3 5(b) < Tea ot ¢ ST 7 SR TS
(i) Determination of elastici
(a) Whatare d1ffer.ent methods of measuring demand by family budget ;:;tiogf
trend ? Explain how the least square -
method is used in determining straight & ‘ﬁm IS O 231 bifenis Ffegivmrel
line trend. Discuss the merits and ' g
demerits of this method. 2+4+4=10 (o) DISC‘;SS various problems involved in the
construction of ind
et Fiefn < R oo R & ¢ R ., SRR,
R ererel e T Pt foe poes 3o TS SFOTIS TR 21 Riow smpmienm
TS T T T T A | G ARSI (- SO 4 |
ST SO < |

(b) Whatis control chart ? When is a process
said to be under statistical control ?

Explain X and R charts in detail.
1+1+8=10

e 7B B 2 Tesiwe alfera @Bl fem
AR Ragere o4 IF @R 2 X%
R #¢foq Tl 101 |
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